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CODECATQUESTMETANSWER,C,70 RIGHTWRONHINT CHOICE1,C,70
1 2 #N/A 3 a is 9 #N/A #N/A #N/A a is 9
2 2 #N/A 3 y=07 #N/A #N/A #N/A y=0177
3 2 #N/A 3 d #N/A #N/A #N/A a
4 2 #N/A 3 true #N/A #N/A #N/A true
5 2 #N/A 3 true #N/A #N/A #N/A true
6 2 #N/A 3 false #N/A #N/A #N/A true
7 2 #N/A 3 true #N/A #N/A #N/A true
8 2 #N/A 3 a #N/A #N/A #N/A a
9 2 #N/A 3 false #N/A #N/A #N/A true

10 2 #N/A 3 false #N/A #N/A #N/A true
11 3 #N/A 3 a is 1 #N/A #N/A #N/A a is 2
12 3 #N/A 3 c is 1 #N/A #N/A #N/A c is 0
13 3 #N/A 3 a is 2 #N/A #N/A #N/A a is 1
14 3 #N/A 3 12 #N/A #N/A #N/A 6
15 3 #N/A 3 256 8 #N/A #N/A #N/A 1 8
16 4 #N/A 3 The square of 6 is 36 #N/A #N/A #N/A The square of 36 is 6
17 4 #N/A 3 Please check again #N/A #N/A #N/A Please check again
18 4 #N/A 3 sum = 2, a = 10, b = 5 #N/A #N/A #N/A sum = 10, a = 2, b = 5
19 4 #N/A 3 shift_left = 64 #N/A #N/A #N/A shift_left = 8
20 4 #N/A 3 5 10 #N/A #N/A #N/A 10 10
21 5 #N/A 3 2 4 6 8 10 #N/A #N/A #N/A 4 6 8 10 12
22 5 #N/A 3 1 2 3 4 5 #N/A #N/A #N/A 2 4 6 8 10
23 5 #N/A 3 v #N/A #N/A #N/A D
24 5 #N/A 3 Large value = 20 #N/A #N/A #N/A Large value = 20
25 5 #N/A 3 100 #N/A #N/A #N/A YES!
26 5 #N/A 3 I like brussel sprouts #N/A #N/A #N/A I hate brussel sprouts
27 5 #N/A 3 6 #N/A #N/A #N/A 5
28 5 #N/A 3 12 16 #N/A #N/A #N/A 14 16
29 6 #N/A 3 Done! #N/A #N/A #N/A 012
30 6 #N/A 3 0 1 2 3 4 #N/A #N/A #N/A 0 1 2 3 4
31 6 #N/A 3 0 1 2 #N/A #N/A #N/A Done!
32 6 #N/A 3 Done! #N/A #N/A #N/A 0 1 2 3
33 6 #N/A 3 8 #N/A #N/A #N/A 0 1 2 3 4 5 6 7
34 7 #N/A 3 1 2 3 Z 9.50 #N/A #N/A #N/A 1 2 3 Z 9.50
35 7 #N/A 3 10 20 30 h 99.99 #N/A #N/A #N/A 10 20 30 h 99.99
36 7 #N/A 3 h h s #N/A #N/A #N/A T h s
37 7 #N/A 3 hi there! 0 1 #N/A #N/A #N/A hi there! 0 1
38 7 #N/A 3 bye there! 0 1 #N/A #N/A #N/A bye there 0 1
39 7 #N/A 3 bye there! 1 2 #N/A #N/A #N/A bye there 1 2
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CHOICE2,C,70 CHOICE3,C,70 CHOCHOICE5,C,7CHOICE6,C,7CHOICE7,C,7
a is 12 a is 2
y=017 y=07
b c d
false
false
false
false
b
false
false
a is 0 a is 1
c is 1 c is 2
a is 2 a is 3
5 12
256 8 256 1
The square of 6 is 6 The square of 6 is 36
Good for you Prints Nothing
sum = 2, a = 10, b = 5 sum = 15, a = 10, b = 5
shift_left = 64 shift_left = 128
5 5 5 10
2 4 6 8 10 1 2 4 6 8
1 2 3 4 5 4 6 8 10 12
i v
Values are equal! Large value = 10
100 15
I hate brussel raw sprouts I like brussel sprouts
6 7
16 14 12 16
123 Done!
Done! 0 1 2 3
0 1 2 0 1 2 3
0 1 2 Done!
8 Done!
2 3 1 Z 9.50 1 2 3 Z 9.5
10 20 30 T 99.99 10 20 30 h 99.9900
h h i h h s
hi there 0 1 hi there! 1 2
bye there! 1 2 bye there! 0 1
bye there 0 1 bye there! 1 2
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CHOICE8,C,7CHOICE9,C,7CHOICE10,C,70
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